Pexkypcus

Ipu © = 1,2,3,4,5,6 dbyukuus f(r) npuHAMaeT yKa3aHHbIE 3HAUYCHUs. TeMmy
pasuo 3uauenue f(7) ? Co3marh pEKyPPEHTHYIO MPOLELYDY.

3amada i-4.1.

1,1,9, 33,81, 161

11

3amaua i-4.2.

1,3, 7,15, 31, 63

11

3amaua i-4.3. 11 3anmaua i-4.4. 11
0, 4, 13, 29, 54, 90 1,2, 3,5, 8,13
3amaua i-4.5. 11 3amaua i-4.6. 11

1,2, 5,11, 21, 36

1, 3,5, 11, 21, 43

3agada i-4.7.

1,3, 7,17, 41, 99

11

3agaua i-4.8.

1,0, 1, 4, 15, 64

11

3apaga i-4.9.

1, 4, 11, 26, 57, 120

11

3apaua i-4.10.

1, 5,11, 19, 29, 41

11

3agaua i-4.11.

1,4, 7,19, 40, 97

11

3agaua i-4.12.

0,4, 5,11, 14, 22

11

3agaua i-4.13.

1, 7,16, 28, 43, 61

11

3anaua i-4.14.

1,4, 8, 16, 29, 51,

11




3agaua i-4.15. 11

1, 6, 13, 27, 50, 89

3angaua i-4.16. 11

1,2, 5, 14, 47, 194

3amada 1-4.17. 11

1,3,5,9, 15, 25

3amaua i-4.18. 11

1, 5, 10, 24, 49, 103
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Pexypcus

281 | g[n-1]+4(n-2)(n-1)
127 | 2¢[n-1] 1

139 | n*n+g[n-1]

21 | g|n-1]+g|n-2]

57 | g[n-1]+(n-1)n/2
85 | g[n-1]+2g(n-2)
239 | 2g|n-1]+g(n-2)
325 | g[n-1](n-2)+n-2
247 | 2g[n-1]+4n
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10 | 55 | g[n-1]+2n

11| 217 | g[n-1]+3g|n-2]

12 | 27 | n*n-g[n-1]
13|82 | g[n-1]+3n

14 | 87 | g[n-1]+g[n-2]4+n
15| 153 | g[n-1]+g|n-2]+2n
16 | 977 | g[n-1](n-2)+n

17 | 41 | g[n-1]+g[n-2]+1
18 | 208 | gln-1]+2g[n-2] 1 n

-4 daitn  4bl11-AnsA

03-Mar-16




